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GENERAL INSTRUCTIONS TO THE EXAMINEES : .

-

(1) el arefserm TR S e srferda: ford |

Candidate must write first his / her Roll No. on the question paper compulsorily.
2) aft v w@ e £ |
All the questions are compulsory,

(3) e Y B I G 5 I A i o |

Write the answer to each question in the given answer-bogk only.
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(4) ot et 3 e e ¥, 39 e v v e @ Red |

For questions having more than one part, the answers to those parts are to be written

together in continuity. _
(5) We-U & et @ oneht waw 3 faredt were o 7fe /v fertenyr B9 W R e o6 ww
1 8 HE M | _ Y

If there is ahy error / difference / contradiction in Hindi & English version of the question

paper, the question of Hindi version should be treated valid.
(6) WA H1 I foE B Y& YA 1 i aravd ford |

Write down the serial number of the question before attempting it.
(7) WA w1 3 R e g

Weightage of marks for the question is as follows :

TS mm T Y T | 3 TAF W | F 3 WR
w3 (A) | 1 E0%) 201l 20 1 20
G- (B) 21015 4 ) 8
TUz-5 (C) 1610 19 4 3 12
&2 (D) 201021 ) 4 g
w=-a®) 221023 2 . g
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g - A
SECTION - A
fraforiea agfamedta wwal 3 3w, Sor-ygfeme § i .
Write the answers of the following multiple choice questions in the answer book :
Ao T -
Multiple Choice Questions — ' 1x10=10
(i) T=ferRaad Qs @ oew d o gro T Aa R ¢
(31) Ty () wigy
(@) @ (]) g
Which of the following plant is pollinated by snails ?
(A) Cotton , (B) Arisaema |
(C) Mustrard (D) Tobacco 1
(i) Fraferfag 3 & #F a1 o AR TWH 3 deeryn & fore waifoes wewg R 2
(31) Fe (3)- Mo
(®) Zn :-.(ré)—l B
Which of the following element is most important for the synthesis of auxin
hormone ?
(A) Fe (B) Mo
(€) Zn’ (D) B 1
(iii) wretaTsRe 1 a8 VN BT ¢ —
(31) = (q)
(®) @ (3) =
The respiratory quotient of carbohydrate is -
(A) Zero (B) One
(C) Two (D) Four 1
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(iv) Fefeiien & & %3 st 3 Rrveeo 3 o wed seifem oo 57 i foar e & 7

(37) DNA (¥) RNA

(8) S (2) e

The southern blotting technique is used to analyze which of the following molecules ?

(A) DNA (B) RNA A4

(C) Protein (D) Carbohydrate 1
(v) Trmaforiad & @ =49 8 I % J9aR F fore 3 st s @ 7

(3%) et @it () wifoarfeg

(®) wre (8) it

Quinine is very effective for the treatment of vsihich of the following disease ?

(A) Whooping cough (B) Cataract

(C) Typhoid (D) Malaﬁa 1
(vi) ot # Rererasfiet e 8 - |

(31) ¥t (=) uri

(3) Hicahts (]) <RIt

Water soluble vitamin is —

(A) Retinol (B) Thiamine

(C) Calciferol - (D) Tocoferol
(vii) W & Y wgfeam gro afed gt € — 1

(34) TR T FRr () SR w ey
(¥) feife v wegom () ﬁﬂ@ﬁq@m&m

Hormones secreted by corpus luteum in humap are
(A) Estrogen and Progesterone (B) Pro
gesterone and Rejyy:
elaxin

(C) Relaxin and Estrogen (D) Progesterone and Oxyt
ytocin
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. (viii)ﬂmﬂ%@ﬁﬂ’mwﬁnﬁﬁ?ﬁaﬁﬁmﬂ%m@ﬂf%?

(37) wEEEW () e

(9) TRiTvEAT (8) ATEHHA

The acrosome of sperm is formed by which of the cell organelle ?

(A) Lysosome (B) Golgi body

(C) Mitochondria (D) Centrosome 1

(%) T THRHE Y F, -t 3 e A e a e e vl o s v g g 8
(3:[)1:1 ' (3)31
(|) 1:3 (8) 2:1

The ratio of number of dwarf and tall plants found’in th;_e- F,-generation of mono-

hybrid cross is —
(A) 1:1 (B) 3:1

€ 1:3 D) 2:1 1
(x) Ereferfiga § | W &1 4 ShaUte T8 2 ?
(31) &M (€) feEr

(9) TGN (z) gl

Which of the following disease is not bacterial ?

(A) Tuberculosis (B) Diarrhoea
(C) Mumps (D) Diphtheria 1
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T &1 2 § 8 % I, O Ui A A

Answer the question number 2 to 8 in one line : 1x7=7

2. uamgw foran <t faftr ot S ammasm Rrgra foram s o 2

Who proposed the induced fit theory of the mode of enzyme action 9 1

3. M g1 ITey g femveg oy & T saerht R ¢

Which plant hormone is responsible for the Richmond Lang effect ? _ ' 1

4. PCR %1 QU ferflaa |

Write the full name of PCR. {

5. ﬁn%mmm%wml

Write the name of the gs;:’ﬁ_;l 'p]ant part of clove. s

6. FHBIRHRh T H @S H =7

In which animal was Rh system discovered 9

1
7. R fam, frw cE e S s A w2 -
Which day is celebrated as World AIDS Day ?
1
g 3@ TR v F T e, ﬁﬂﬁnﬁﬂmwﬂa‘}mmg |
Name the blood corpuscle in which malaria Parasite multiply
' 1
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.
o T 9 11 F T, F-gfrn o forfEe :
(Ferr Tl <Y ofd hifde)

Write the answers of question number 9 to 11 in answer book :

(Fill in the blanks) 1x3=3

g, e i B eI i Fui F 2 |

Microspore forms the gametophyte after its germination. 1

10. ITGH % I I W e hi a3 & &Y H g B FEAE |

The loss of water in the form of vapour from the aerial parts of plant is called , 1

11, fewifen T agsg o _ o gt |
Diphtheria disease in human is caused by bacteria. 1
g -9
SECTION-B

|9, e aTea i fy- e A e |

Explain double fertilization in angiosperm plants. 2
13, SroEaydd 1 feorft fafa |

Write a note on hydroponics. 2
14, et 3R R i o g e frfae |

Write any four differences between the artery and W_.fein. y)
SS-42-Bio, [ Turn over

https://www.rajasthanboard.com


https://www.rajasthanboard.com/

15. Fmafafgs w fewoh fofey ;
(i) WTRIgE Ft FTHGAT
(i) 3Fuf¥
Write a note on the following :
(i) Suicide of thyroid
(i) 3F Gland 1+1=2

GUE -4
SECTION ~C
16. () Wbt vaEd W feupoft fafigw |
Write a note on photorespiration,
(if)  C3 T Cy 50 H IS TG 3Few enflre |
Write any four major differences between C; and C, cycle. 1+2=3

AYET/OR
(i) vaEA ure R feoauft fafigy |

Write a note on respiratory._qudtil_ent.'
(i) Tt Yo T It YaEA 1 1S R 3 ffg |
Write any four differences between the aerobic respiration and an-aerobic

respiration.
1+ 2= 3

17, Prefefiaa ot feuf fefign
(i) A
(i) Bt-F9H
Write a note on the fol]owing :
(i) Ex-plant
(ii) Bi-Cotton

a19al/OR 1+2=3
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Freafifien w feom forf

(i) Ti-wnfeng
(i) FAHER

Write a note on the following :

(i) Ti-Plasmid

(li) Flavr Savr

18. (i) T A FE ?

What is the bio gas ?
(i) W%%Wﬁ%ﬁmﬂ |

Explain

a7 /OR

the process,of- 00

1 :ﬁﬁ'gn"‘o'f' bio gas.

CREra— LY

Define the bio-diesel

(i ﬁ@wmﬁmﬂﬁﬁﬂf@ll

Write a not€ 0

9. Wwﬁqﬁmﬁaﬁﬁa‘fﬁ(

Describe the blood corpuse

n the petro plant.

ﬁmaﬁwavha.ﬁﬁrqt

les found in the human blood.

areral/ OR

Wﬁgﬁﬁmaﬁwaﬁ

teps of urine {0

Explain the different s

38-42-Bio,

fafore O] 1 EASC |

rmation in human.
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20. (i)

(if)

(i)

(i)

21. (i)

(i)

(i1)

SS,42"Bi0a

10
TS - ¢
SECTIbN -D
T YT 1 IR = §15T |
Draw a labelled diagram of stomatal apparatus.
11 % GoM Ta 9 g 1 TR b afir S s e figia gr aeesv | "

Explain the process of opening and closing of stomata by the active potassium ion
transport theory. ' 2+2=4

FYAT/OR
TS St T 1 A o AR )
Describe the structure of enzyme with diagram.

et -t fergie & ST W e ) Brafafy ) g |

Explain the mechanism of the enzyme action on the basis of Jock and key theory. 2+2=4

W o 0T Tt AT Hl FoI Hifye |

Describe the structure of human testes,

AT & T T H1 AW g |

Draw a labelled diagram of male reproductive system of human

2+2=4
17T/OR

ﬁq%arﬁqzﬁmﬁugﬁgﬁn(mﬁma@nmam% S
grfed | -

Which hormone deficiency causes diabeteg mellj |
tus ? Throw I
1ght

of this disease. on the symptoms

T AT e’ o ATHITha o s |
Draw a labelled diagram of an ‘Islets of Langerhapg:

2+2=4
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22. (i)

11
TE-9
SECTION-E
T3 figm g feomft faf |
Write a note on Down’s syndrome.

wh:mﬂn%awﬁlﬁanwsﬂﬂnﬁdmﬁfﬁmi

(ii)
Write the symptoms of colour blindness and explain the inherifance of this disease.
2+2=4
3gar/OR
@) e HeRTul sht aReTTE HIRAT |
Define the test cross.
(if)  Torerer S TR A T HR TE wor fafy |
Write the cause and symiptoin$ of Sicie'cell anaemia. 2+2=4
31/ OR |
() g ¥y & Faw wt e anssy |
Explain the Mendel’s law of dominance with example.
(ii) Dz I wer % 9 H BN A wwwl w1 e e 7 -l 9r fagaidt wamit =
groftag S | | -
What traits (characters) did Mendel study in pea plant ? Tabulate any f;)m-
contrasting traits (characters). ' 24+2=4
23. () Yo o afonTRE AR
Define the spermatogenesis.
(ii) kot <h farfire wrorenatl &t e |
Explain the different phases of spermatogenesis. 1+3=4
JYET/OR
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(i) S Y1) 1 ARG For & e |

Draw a labelled diagram of human sperm.
(i) W i Fee o epdt s wh wmese |

Explain the cortical reaction of fertil-izatiﬂ.n in human. 2+2=4

Fgar/OR

(i) | SR H1 FREH o sy |

Draw a line diagram of OogeneSis.
(i) T HHHTE F R A

Explain the blastalation in human. 2+2=4
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